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PART - A
SPOTTING ERRORS

Directions: Each item in this section has a sentence with three underlined parts labelled (a), (b) and
(¢). Read each sentence carefully to find out whether there is afly error in any underlined part and
indicate your response in the Answer Sheet against the corresponding letter i.e,, (a) or (b) or (c). If you
find no error, your response should be indicated as (d). '

1. We were in search of an emporium where we could buy ladies garments cheaply.

_ (b) ' (<)
No ggor. :

2. Mahatma Gandhi was in arrest on several occasions during the freedom strugg. le.

. ( o b) _ L (©)
No error. o
@ o N
3. Apartof the audience - - _becéme restive  and began to shout loudly. No eITor.
(@ | RO © @

. 1 have been franticall i to ﬁnd a sui_tab.le house_ in Delhi from the past §ix months.

o (b)
5. People is likelyto revolt _against a government  if treated harshly over a long period.
S @ | (b) - (c) S
- - Noerror. © = . ' ‘ - - : L
) S | I
6.  Specch is most valuable among the faculties which man possesses.  No error.
o - @ R (b) | (C)% B CV
7. Alarge number of people ct_m't_inues to be illiterate . .'in our country.  © No error, .
| e (b) - © @ .
8. Adaylafer "fhex_ went shopping i city with lot of money. Noemor.
fa) b ©. - @

. 9 What ou e doin to achieve - a first in the annual e%dminatiogs_? ~ No errdr._ |
RN e {0 | | LC) NN
10 Manyaflower isbomn  to blush ﬁnsegﬁn. Noemror. = . e
' | E o () (©) {C

11. His isthat e does not listen to anybody - - and is often blind of his own faults.
R R CEE (0 R

No error,

(d) | : | S
12. Hecaughthimbythencck ' anddealthim  asound hwashing Noemor - . -,

- (@) () I I N () R
T 2 . _ . 0 (Comd) - . .
e ERRRORT TR




13. Smtators of a football match ' leas - whenagoal is thrown.  No error.

: (a) ' @ @
14, The whole count_rx will bc €IiS ed if peoplc do not work hard. Nd-error.___
© @
15. lknow bx cxmnence that badmmton a very exciting garhe. No error. -
e ©@ o
SENTENCE IMPROVEMENT |

Directions: Look at the underlined part of each sentence. Below each sentence are glven three posszble |
substitutions for the underlined part. If one of them (a), (b) or (c) is better than the underlined part,
indicate your response on the Answer Sheet against the corresponding letter (a), (b) or (c). If none of -
the substitutions improves the sentence, indicate (d) as your response on. the Answer Sheet. Thus af
"No improvement" response will be signified by the letter (d). i

16.  How much ago did it happen‘? : 21. Manya xoung men wants to join the army
(a) How far o .-~ - (a) youngman :
- (b) However ' R (b) _ayoung man
J How long R S young men -
d) Noimprovement - .7 '(d) No improvement
:17. He frequents this restaurant. -~ - . ‘We have met before, lsn't it?
. (a) seldomvisits - - o (a) didn'twe? - - '
(b) .looksafter S ' (_b) havewe?
(J:) is the managerof -~ - " haven't we? |
| No 1mprovement S SR (d) No 1mprovement S
18. -Ishave on mtwe days. ~ 23. You will not succecd gless xou  do not
“(a) _ every second day: - B workhard
alternate days - _ e (a) €ss you will not work hard
(¢} consecutivedays = - N unless you will work hard - .
" (d) No improvement’ c . (0) unless you work hard

_ =« (d)y Noi 1mprovement
I9 The: result ofthe examinatton has not known

for another two months. S _'24 Itisno usetocg[ over §].'_lllt mll
/»y\gﬂ_l notbeknown o (a). crying over spilt milk
(b) willnotknow = . - .+ (b incrying over spilt milk-
(c) willnotbe knowing . k o ’,(o)/ of crying over spllt milk
(d) No 1mprovement L () No 1mprovement o
20 Ram Singh came very close towina gold -25._ His room is gggla_rger than mine.
~ 'medal for India in the Olymplcs S (a) 100 larger than mine
- () for winning. o . (b) ‘muich larger than mine
® _hla.\_:ir_gtv‘von el e more larger than mine ..~
- fowinning ...UM - U ke No improvement BN
v W <(d) Noimprovement . . ™ o
KR U e 3T Contd)
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26. Though it was raining but he went out.

(a) and he went out

(b) he went out )
ﬁowever he went out

(d) No 1mprovement

27. Heis sharpemng the pencll bx a knife.
(a) onaknife

(b) from a knife
‘with a knife
(d) No improvement -

28. We were pleased to seeing her.
/(A‘J/w to see
(b) from seemg :

(¢} in seemg _
(d) Noi Improvement

29, Tt became dark after we wei'e" walking for
about half an hour, -

havebeenwalkmg SRR
-~ (b) have walked = :
.+ () had walked

() No xmprovemcnt :

30. He is livin ing in thlS cnty for the ]ast three
. years: :
(@ lived - o N

has been living - e
(c) lives -
(d) Noi lmprovement

D:recaons. Each of the following items in this sectio

33. We

31 Where does your friend hve'?' 'L don't know

where my friend does live.'
 (8) does my friend live

he lives
(e} lives my friend
- {d) No improvement

-32. - Any of the three offers is acceptable to me, -

(a) Every

(b) Either

(c)y Al :
No improvement

'went on picnic last Sunday
to a picnic
(b) in picnic .
{c) ona picnic _ _
(d) No improvement

34. It is too-early to go'to school

very early
(b) Quite early
(¢) much early-
(d) ‘No i 1mprovement

35 A square peg does not fitinto a round hole N

(a) does not fit in a round hole

(b) _cannot fit around a round hole.. o
does not fit inside a 2 round hole A

(d) No i 1mprovement o

- ORDERING OF WORDS !NASENTENCE N
n-consists of a sentence the parts of which have

~ been jumbled. These jumbled parts have beenlabelled P, Q,Rand S which are followed by four
. sequiences namely (a), (b), (c) and (). You are required to rearrange the jumbled parts to produce the
‘correct sentence, Choose the correct sequence and mark in your Answer Sheet accordmgly o

L 36 ‘The doctor told 37 The judge :
(P) thepatient _ -(P) lied to the court
{Q) to give an injection to- ‘]/ (Q) . whyhehad -
(R) thenurse \ - " (R) asked the accused
. (8) - after four hours | ' _(S) in spite of his oath - o
_ The correct sequence should be - The correct sequence should be L o
RQPS - . e S - (@ PSRQ Co s € Lo
] =a,) RPSQ o O ‘?} -~ (b) QPSR Ty -P 'g N
(¢) QPSR ComEe D (c)' PRQS S o
] _(d) PSRQ. . . .- e A - Son .- R
; ) = --.=.i§:i!l=‘f= .
e k. - : ' -;p 1,.
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ot (Q) ontrmaltlnngsuh - r T {Q) career . . o -‘;i’

'm ﬁhsillﬁﬁé : qqu, - (R) wastmg your tlme Sk o uﬂ“ ‘f"!liﬂ L ( ). map. s i ,,q'.m.g ’Emﬁh LT e
<7 (8) now get up. Lo "" w.® (S) of thls noble =" -t e
s +— ’Ihecbrrectsequeneeshouldbe ' i ' "'I’heqorrectsequeneeshouldbe'. S

- e SPRQ . (a) PQSR - o tawE
~ “®y PsRQ (@) QPSR
© QRSP '_(c) RPSQ ~~ .
(d RQSP - QSRP/ '
" 39. The stranger's movements 41 The food
(P). and the police | (P) attheparty
(Q) him- (Q) served
(R) arrested’ . (R) wasdelicious ™
(8). aroused susplclon ' . - (S) but not wholesome :
- The correct sequence shouldbe ' - The correct sequence should be "
‘(a) - SQPR " . S "(a) PRSQ - -
() RQPS - T QPRS-
SPRQ - " (©) RSPQ
@ -RPTQS-- A (@) QRsP
- SELECTING WORDS -

' Directionr In'the follovnng passage at certain points you are given a chonce of three words marked o
. (@), () and (c), one of which fits the meaning of the passage. Choose the best word out of the three. * -
Mark the letter, viz., (a); (b) or (c), relatmg to this wnrd on yourAnswer Sheet Examples K and L have

- been solved for you. _
 The (a) Iboy Wasin__'the school in Simla, (a_) She was home sick: .

(c) dog (c) He . .
Explanatlon. Out of the list given initem K only, 'boy’ is the correct answer because usually, a boy, o
.andnotahorseora dog, atlends school. So '(a)' isto be marked on the Answer Sheet for item K. A boy
is usually referred to as *he, so for item L, '(c)' is the correct answer. Notice that to solve the ﬁrst item
K you have to read the rest of the sentence and then see what fits best. : -
_ : Passage ' _
_’I’he crow is-a famlhar bird. Everybody must have seen one. Wlth their cawing the crows
: 42 ' :
(a) pleasant. They '

})/léucous
“(¢) moving

' -wake us up early in the mornmg The cawing of the crows is very

(Contd.)
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o - - (0) ff"m _
A - ST §
rubbish whxch is food for ’)pf them,
' SR (c) you, .
T 47
/ Jump around to pnck up WOrms and (a) leaves -
" Z(b) come _ - (b) crumbs.
c) hop {e)” feathers.
48 | . . © 49 :
(a) when they come close to your  (a) feet
that ' . () hand .-
“(c) as “(c) mouth
50 s1
(a) present: - them, They have sharp eyes to  (a)_check
- (b) “throw . R MY watch
'(c) offer . -_ - - B Yy~ show
They are also very (a) mild ‘and will come into the house.
| ‘courageous . '
_ (c) ‘impudent -
: 54 o -
In summer they () all ﬂy about with their pointed beaks
| ’ “(b) . some | :
(¢) both :
. - .56 C
of water. They quench their thirst
~“(b) hunger .
. (c) desire
| - 58
of rivers. It is wonderfulto  (a) know
- S - " watch
_ (¢) look
59 o 60
(4) dashing - noisily. They are fond of sitting aY frequently
'(b) splashing - (b) shabbily
'(¢) throwing (¢) quietly

s0 they are very watchful They

() closed

at publlc baths or on the)y)’

g T

.j___.'-(a) in- much
Sy away ‘
(c) ovef:

They can get very bold, so

if you have 'anf f@)od to .

their cunningness.

53 |
(a) on snatch up food

(b) to

Tor
: 55‘ . B -
‘in search -
open -

(c) turned

57

banks

(b)- floor
(c) slope

them washing themselves in srﬁalL bondé,

on ‘the.backs ofbﬁﬂ'alqes inthe N

~ shade of trees. They present a beautiful sight when, i m the evenings, they return to their nests in thrilling

geometric formations.

6
*

' (Contd.) o




(Y INS Anhan
(b) 'INS Smdhurakshak
(c) INS Viraat -
(d) INS Vikramadltya '
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62. "The Constntutmn of India was adopted by
the Constituent Assembly on:

(a) 26"‘January1950 _

(b) 15* August 1947 (X

©) 30" January 1948 7
" 26" November 1949 |

- 63. Wlnch National nghway connects Uttar
| [Pradesh and Tamil Nadu?. -

- (@ NH4
(k) NHs
...{(c) NH6
‘NH7
64 Whlch one of the following countnes is not
a member of ASEAN? -
. (@) Indonesia
(b). South Korea
(c) . Thailand
(d) . Vietnam

65 The term 'Bah Action Plan is somet:lmes
©seenin news m the context of

(a). Global cllmate change

(b) Global terrorism

(c) Global wildlife trafficking
(d) Wor!d trade

A 1il!:!§|-'..r.1_ﬁﬂ§f=:

!ilr . * } & i-ﬁﬂfjm ' :
[
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e TWthh one.of the following is India's first % 66, Who of the followlng is. known as the 'Iron .

it Inﬁndxgenously built . nuclearspowered i Man of India'? . e

T i marin 2. TR TN L T
s . Sppmatine Vallabhbhan Patel B

(b) Blpm Chandra Pal’

(c) GOpaI Knshna Gokhale
(d) Bal Gangadhar Tilak 3

67 Bardoh Satyagraha, 1928 was a peasant'--
ement launched againstthe : - -

 Raised rate of tax by the Govemment
(b) Failure of Round Table Conference o
Visit of Simon Commission
‘(d) Lathi charge on Lala Lajpat Ral |

m

68 Consnder the followmg pairs :

Well known. lake - _-&‘ate -
"1 ChilikaLake : Odisha <~
. 2. IKo!leruLak_e : - Kerala oL o
'3, Pulicat Lake Kamnataka o

B Whlch of the pairs given above is/are
correctly matched ?

- /(ﬁ)/ 1 only
~ (b) 2and3only
() tand3only
@ 1',zana3 .
69 Which one of the followmg is nota member
" of SAARC? -
(a) Myanmar
(b) Maldives

(c) utan
_ % Afghanistan

{Contd.)
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(a) Prime thster
(b) Lok Sabha - o

Both Lok Sabha and Rajya Sabha
(d) Umon Cabmet

lI-.',_.. R

. 7'1 LI the annual Union Budget is not passed by h a

Lok Sabha

. Minister to resign

(b) The Prime Minister asks the Fmance :

Mlmster to resign

presents it agam

@ The Prime Minister submttsr the '_

resngnatlon of. hls Cabmet

72 Whlch of the follovmng 1slare used as both |

 fertilizer as well as exploswc? o
1. Ammonium nitrate
2. Calcium sulfate. .
3. . Potassium permanganate

_ Select the. correct answer usmg the code

~‘given below :

S ff tonly
2 and 3.only

s

(¢) 1and3only -
(d) l2and3

.. 73 The expenditure whwh can be charged on

the Consolidated Fund of India :

(@) ‘is dlSCUSSCd and voted by the
- Parliament..

can be dlscussed but isnot put t0 vote o

before Parltarnent

(c). can neither be discussed nor voted by
the Parliament.

(d) is discussed and votcd by the Lok |

' Sabha only.

Mm:sters is collectwely respopsmle to -“'- ."

The President oflndtaaskstheFmance, _'

M
_ﬁf‘é NEG

(a) AnMﬁematlonaI consorumn to addre "
the asteroid threat to Earth -

(b) A geo—engmeenng projeot of OECD .

e f'countnes to find the ways to sa\rc the -
" Earth from global watming. |

" “ward off the effects of solar flareson

. our communlcatlon systems IR
'~ (d) A ballistic missile defence system -
o developéd by a group of countries

. '75 Conslder the follow:ng plants
(¢) ‘The Finance Minister modlﬁes it and _ .

Cy(;as o
B 2-,, Date palm ‘-
- 3. Pinus

Whtch of the above 1s/are flowenng plants? :
(@) land?2 only " '
-~ (b) 2and3 o.nly
) 2 only

: . )@{i iandS '

76 Recently, | between whlch of the Tollowing -
countrics has a 534 km'long gas pipeline

bee proposodtobeoonstructed‘? o
/ﬁg France and Hungary -~ -

(b) ;Gormany_'aﬂd Ttaly
- {c)  Polandand Lithuania
(d) Greeceand Turkey

7‘? Consxder the following statements :
" 1. -Snakesare always at the end of a food
_ * chain. .

2. Somc snakes are vmparous _
Which of the statements glven above is/are..
correct?

"~ (a) 1only
(b) 2 only
(Y’ Both 1and 2

(d) Neither 1 nor 2
(Contd.)
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;: mﬂ Jﬁﬂﬁllt"“ _Mm‘ Iﬂﬂaealntemati'onal Daté Ling, iri order 10 & ”et”““"'*“fi-
the correct day*and time of the local arca . ol

lli - s T R : ho s
** mentioned in the news as contenders fora

, permallent mcmbershlp in the United "

shouldtumhxswatch S
fglr'wa;d S ST _ Natnons Seourity Councrl Wlnch of the
(b) . forward fa“]n"d should move hlS dayll- | !mfol__lomng is not one oflhemQ SR
T calendarbackwgrd [T (a) Brazﬂ _
E (C) baCkward e o Gennany o .
(d) backward and should move I'ns day .
' calendar forward- : (c) Japan

- (@) South Africa
79. Consnderthefollomngstatements o S
' 1. Rodpandamltsnaun-a]habnat is found ~ - 83. "Turkey, which is frequently in the news,

".'.. inEastern Himalayas. = - = does not have a border with wh:ch of the - N
2. ' Gharial in its natural habitat is found .~ following? - . S
-. " in Bhitarkanika. mangroves ' : S
" : a) .Romania - -
Which of the statements glven above ls/are @ R :
~ correct? . . s (b).'lra_". N
(@) lonly o '. R O 'Goorgjh_
Zonly - . (@ -Bulgaria
(c ohland2 . 7. . :
Ad) Néither'l nor 2 - o 84 Con31der the followmg
, 1. Amino acid
. 80 ‘Who among the followmg was the ﬁrst Y 1o aclds
Govemor-General of Indep_endem lndla ? 2 _ IFat\ty.amds _
(@), C Ra_]agopalachan . S 3. - Hormones a L
(b) Rajendra Prasad - o o .7 4. Vitamins . T
Lord Mouotbotteo | . < Whichof the above can be the sources of -
" (@) ' §. Radhakrishnan ' _ cellular energy ina human bocly" '
. With referencc to carbon dloxlde, whlch of 1 and 2 only '
~ the following statements is/are correct ? ? '_ (b) 2and4only -
1o It is released from the interior of (¢) 3and4onl .
: Earth during volcamc eruption. an y :
- 2. Itcorrodes metal surfaces. - (@) L,2,3and4
3. h ired for th lants fi '
.- th;?rtset?rl\lrllval or the green p ants OV 85. What causes wind to deflect towards leftin -
Sclect the correct answer usmg the code ‘the southern hemisphere? _
given below : | I _ -~ . (a) -Atmospheric temp.erature
(@ 1 and?only o _ (b) Earth's magnetic field .
(®). 3only o "~ (¢) Rotation of the Earth
/0:)6 and 3 only ' T ‘ . -, '
@) 1,2and3 _ _ (cl) Atmospheric pressure

(Contd.) -
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':-fsf_'-i__ri;i-'-'? o &)
e equ‘al.‘

'equatonal chameter _

dlameter

8’7 Recently, the Interlm Secretanat of the
{nternatlonal

- (b) Rampa,t |
. (c) - Vadodara - !
(d) Vnsakhapatnam IR

following statements

- eastern India.

of Vegetatlon, soil and organic matter.
Whleh of the statements gwen above is/are
correct A :
(a) i only
- (b) 2only -
}e)/ Both 1.and 2
(d) Netther 1 nor 2

N __ 89 Mahatma Gandh1 suspended Non-
' Cooperation Movement dueto:

j)/_ Its taking violent turn

~(b) Inadequate cooperation from people

 (¢) Disapproval of Congress = ‘
" (d) Tit health of Mahatma Gandhi

; | () ‘Polar dlameter is longer than the\_

88, Wlth reference to Loktak lake, conslder the
. 1. Loktak isa freshwater lake in north-' |

- 2.. Loktak lake cames ﬂoatmg islands -
o that are made up of decaying masses

Wﬂﬁﬁlw —E._.!._Ir b :@EEI“ IR ‘ :f‘- )

86. ;\ﬂﬂ:uoh one of the followmg statementsgt_- 90,
.. aboyy Farth's diameter is trug?:
- '-_Polar dnameter is shghtly lessthanthe" s

@) Polar diameter is half of the equatonal .

Solar Allnance was _

| guratedat SR o

| | _"oo
| - dependmg on its surroundings.
3) - does.not lose heat to surrouiidings

Whlch of the followmg statements ls/are

-correct?

- Saudi Arabia and Kuwait .

. 2. Fracking: technology used in the
~ extraction of this gas requnres large

quantities of water. )
Select the correct answer usnng the code
given below : -
" (a) lonly
" (b) 2only
(¢) Bothland2 -
(d) Nclther 1 nor 2

92. 'TAPT gas plpelme, sometxmes mentloned
in the news, 1s planned to be laid in:

(8) Turkey—Afghanistan— — Pakistan—India
() .Turkmemstan Ajarbauan Paktstan— |

Iran

(e)_ Turkey Ajarbauan Paklstan Iran .
" (d) Turkmenistan -~ Afghamstan Paklstanw- o

’ India -

93, Consider the following :

L Palrn civet
2. Puma
~ Cheetah

' Whtch of the above. ts/are found in Indla in -

their natural habitat ?

-(a) 1only

(b) 2and3only
1 and 3 only

(@ 1,2and3

1. Shale gas is. extensnvely produced m s

o (Contd.)

/. fm-| Whlchaal_
“(a) _-has a ﬂuen%ng%g‘ﬁ%mmmre:?

IPOI‘“' and equatonal dtameters are (e :;absm-bs heat from surroundmgs‘“ o S




2ol ?1
mpnson" o

O Bhagat Smgh OL‘

(d) Jatm Das

95, Consnder the follomng statements :

ﬂﬂfr *

| A GovemorofaStatecmreserveeertam-

~ bills passed bythe State Leg;slatu:e for

| cons:deratlon of the Pres:dent ofIndia - -~

-2 Govemor ofa State can make the rules
“ to conduct the busmess of State
Government .

Whlch of the statements glven above is/are
correct? :

(a) l,.op_ly

; Both land 2
(d) Nelther 1 nor2

96 Thcrc 1s agrowing concern about the release
‘ofa particular gas into the atmoSphere from
the pennaﬁ'ost of Afctic region. Which one

of the following is that gas?
(a) Carbon monoxide |
(b) Ethane -
“(c) Methane

/a)/ Sulfur dioxide

“RuPay . recently in the news is the name

) Digital currency
(¢) Super computer
(d) Tax benefit

o '_9sL.‘ Which of the followmg i

. yaa ! I
o Ll ﬁl Wl .

il

sf%lre’among the
main objectlve!objectwes of 020 group of
i countnes‘? o .y
L Dlscussmg key 1ssues in the global
economy ?;ﬂ!j!tll

__2. Promotmg-mternatxonal ﬁnancxal

- stability

et

Select the correct answer usmg the code _

gwenbelow
(@ lonly
"(b) 2Zonly
Bothland2 . -
@ “ N'either'l nor 2

CopEa

Reserve', which of the followmg statements
1slare correct?

1. Iti is located in the Eastern Ghats
2. ltis a unique tropical ram forest.

Select the correct answer- usmg the code
given below :

(@  lonly
: (b) 2only _
"Bothland2
(d) Nelthcr 1nor2

o 100, Whlch one of the follong is located

between France and the Umted ngdom"
Cook Strait
(b) Davis Strait
~ (¢) Straitof Dover
" .(d) Strait of Gibraltar

101. Which one of the following is associated

with the issue of control and phase out of -

* the use of 6zone depleting substances?
(a) Bretton Woods Conference

~ (b) Doha Development Agenda
(¢} Genevall Conference
(d) Montreal Protocol

(Contd.)

99 With reference to 'Seshachalam Blospherc ‘




e "102 'Consrder the f'ollowmg
Headquarters of: World Trade T

...:imﬁm snﬁ]“i

Orgaruiation (WTO) are in Doha.

World Intellectua} Propeny()rgamzaﬁoﬁ“-‘ |

o '. isa specrahzed agency of WTO..

: - 'Whrch of the statements glven above 1s/are 2 g

_ correct?
o (a) 1 only
= 2only
-(c) Bothlantl2
(d) Neltherl nor2

103 What is 'Falcon 9, recently seen in news‘?

| (a) A rocket to delwer satellltes into orbit. -
| y/ A short Tange mrssrle launched from

warshrps
(c) -An umnanned fighter alrcraft

| 104 Con31der the followlng statements

RN b Earth recewes the Sunsenergy only at

: the mframd end of the spectrum
2. Earth reradlates the Sun s heat only as
| tultrawolet energy

correct"
(a) lonly
(b) 2only

- /(c/) Both 1and2

(d) Neither | nor2

statements 5 i tttﬁtttwms Gonsider e fouowmg

t "Ibil pl»ants

._ .” 1 Bm IR _' i i, :

tHﬂ' ng Potatg.- 3
I X Turmerrc

'Whlch of the above 1slare propagated by
- .vegetative methods‘? | '
" (a) 1 only o
“tand2only
(c) 2 and 3 only
(d) 1, 2 and 3

. 106 The Polavaram Imgatron Pl‘Ocht recently a

in the news, is located in:

o )@)/AndhraPradesh .' ‘
-~ by -Komataka

() Kerala -
(d) TamllNadu : : - .

( d) An astrono mrc al space observatory 107 At wluch of the- follomng places is the

" Marine National Park located ?
}a{ Chandrpur-on—sea

(b) Jamnagar -

{c) Puducherry

(d) Vlsakhapatnam |

_ - 108. How ‘many north-eastem States of Indla_-. 3
Whrch of the statemcnts glven above 1s/are -

. (West Bengal is not mcluded) share. 1ts/the1r .
: border with three other countries ? ? |

(a) One

:/Qj( Two

(c) . Three
(d) None

| (Coatd.)




- u‘[u

st L R T i S

- m“""ﬂﬁ
R ) u H E-;Pi

109 Fly. ash-'" Wl‘ll¢,h_‘! Gan be usex

Fin makmg
- ,bncks, ls emntted from e SRR
' I(a) Bumms Ofagl‘lwlturalwaste T

g

o ‘(b) Bummg of mumcnpa] solld'waste

iy

(¢)- Mining of alummum and iron ores

Ny )ﬂ)/Thermal power plants

- 11_0.,-Con‘sider the.foll'ov@ring statements :
1. Snowline occurs ata higheraltitude in

Eastem Hlmalayas thamn the Westem
i .. 'Hlmalayas |
-2 -Mangrove forests in Indla oceur along
| the coastal areas of West Bengal and
" Odisha only. . |
- Which of the statements gwen above 1s/are
correct?
(@ lonly
(_'b) 2 on!y-
() Bothland2
| fd) .Neithe; 1 norﬁ .

ill Which one among .thc following is. kn’own '
asthe]argcst producer ofsteel inthe world ?
(a) Austraha ‘

/(b'j_/ China
(¢) India
(d) South I{_orea_

--------

-@Ih‘lch of the% fbllowmg lsfaréhswg"h .

" Heritagg Propertiés as per UNESCO?

' ‘”lif*h. thtarkamka Nqatlonal Park - ;L S
. ' Y S -
. 2 ..,,iu;;-Bandhavgarh National Park 2 - -'R :
Sundarbans Natlonal Park

“Select the correct answer using the code
given below : ‘

 (2) T'and2only
() 2and3
@ 1, ’2' and3

1 13 ‘Which of the followmg places have nuclear '
- power plants? L :
1 Amark_al_ltak
2. Kaiga
3. Rawatbhata
4, _Visakhapatnam

Select the correct answer usmg the code
given below :

(a) 1and2 only |

__ /Cb)/ 2 and 3 only

- © 1,3and4only x
(@) 1,2,3and 4 oL
114. ‘Wolf1061¢' recently in news, refers toa/an: -
(@) Comcttowluchaspaccprobehasbocn‘ o
sent recently - o

Asteroid that flew past the earth
'reccntly

®

(©)
(d)

Galaxy closer to our galaxy
Exoplanet in the Goldilocks Zone
around a red dwarf star

(Contd.)_
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" violence 7 - -
(a) land2 on,ly

.‘ }ﬂonly
© 1,2amd3
(d) None

116 thchone of the followmgnversnses near -
Mahabaleshwar" '
(a). Godava_n
, _Krishna’ '
©) 'Kaveri .
(d) Tapl

117. Recently, Indxa made a deal wnth Japan to
mtroduce India's first hlgh speed rail (bullet
train) between ' :
(a) Ahmedabad and Mumba1 ‘

' (b)Pune and Mumbai -
“{c) AhmedabadandDelhi
(@ Chennaiend Hyderabad -

“"lﬂl! i
- i “_ : R RANRE : mﬂll‘lﬂ.’“lhmu_m -
' i o ilfl ’Consid‘e“i"ﬁe“folhwmg eounn'les:.._ b0 1 ]
DR o Nalmbla T NG .
2 Syna : | .-ll-\"l.": ..-/ :,l'l . Ifeatm? '
J“@I!! T ‘%Hl‘ = . srllu ddha .
3. Mozamb:que T Bu sy
Recently, in which ,of the above e_ounmes B (b) : Knalma st
hasalotof dlsplaeement of 1tslthe1r citizens - G Mahavira
been caused due to eml warlterrorlst S (cl) Shiva - '

'119 Whlch one of the followmg, cons1dered a
T _carcmogen_, is often aecretlyely used by_

* some for artificial fruit ripening ? o
(2). Calcium carbonate | "
Calctum carbide ‘
(c) Sodnum benzaate
() Sodtum sulfate

| 120 Whlch of the followmg is nora member of

~“a group of countries known as G7 ?
(@ Australia
._(b) Canada
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